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2. HTES BT 20| BBHEOISH 22 AEEAN 2RAMMEME HE L IEHSYMEE AISE £ 9
AAte= 7|E Z23 [ = AAte= 7|E Z3ab | che
ol HhM| 1000]| 5} 0 |CFU/mL Of| & &I I 0.30]| st =4Z| mg/L
& =4dE =4 E|/100mL =Rk 0.50]| st =4dZE| mg/L
e PN =HE =4 Z|/100mL 1.1C| 2220 23 0.030]| 5} =4Z| mg/L
= 0.010|3t [2AZ| mo/L AbH BhERA 0.0020|5t |2AHZ| m/L
=4 1.50]|5} =4Z| mg/L a5 3000]| st 62 mg/L
H| 2 0.010]3} =4dZE| mg/L TUZEAMZE AH| 2 100]| st 2.1 mg/L
Mie| 5 0.010]|35} =4Z| mg/L EH AR HMztelg Ad| 'l -
T2 0.0010|st |EHZ| mo/L Sf Btol glg A | s -
Al ot 0.010]|5} =4Z| mg/L T2 10|st =4Z| mg/L
3z 0.050[ 3t =4dZE| mg/L M 50] 3t =4dE| =
o Lot Al A 0.50]| st =4Z| mg/L M| 0.50]| 5t =4Z| mg/L
EAME A 1005t 2.0 | mg/L Fa0l25% 5.8~8.5 7.3 -
== 0.0050|5t |E2AHZ| mo/L ofed 30| &t 0.003 | mg/L
o = 0.0050/5t |2AHZ| mo/L 4ol 2500| 5} 21.0 | mo/L
ZEz|st2o et 0.103t | 0.026| m/L ZYURRE 5000 5} 121 | mo/L
Cto|OofX| = 0.020] st =4dZE| mg/L =] 0.30]| st =4dZE| mg/L
ol2le| 2 0.060| 5} =4Z| mg/L =, 0.050] 5} =4Z| mg/L
HUE=Zx & 0.040|3t [2AZ| mo/L Et 0.50| &t 0.05 | NTU
1.2-CIE22-3-E22=ZE| 0.0030|st |2HZE| mg/L ghatol 2 2000]| st 12 mg/L
Ftatel 0.070[ 3t =4dZE| mg/L Y=0|5 0.20]| st =4dZE| mg/L
111-E2|22 20|t 0.108t |2&HZ| mo/L 2zzz= 0.080l5t |[0.018| mg/L
BEalZ2z 20|22l 0.010|3t [2AZ| mo/L HE 10|35t 0.01 | mo/L
EZ| 2z 203 0.030lst |=&HZ| mo/L HERC| 2220 Et 0.030]| 5t 0.007 | mg/L
Ci2z2H &t 0.020|3t [2AZ| mo/L Clezoa 220 et 0.1015t | 0.002| m/L
Il 0.010|35} =4dZE| mg/L 1,4-ClO| S At 0.050|35} =4dZE| mg/L
=5 0.70]|st =4dZE| mg/L ZEAH S = 0.50]| st =4dZE| mg/L
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1. Aol Zat= HAFEH of2e] &1 s, Ol A8 & EAE & 8lS.
2. HINE2 MASFH Rk kel o ZM MEHME ME 3 EISUMTE ASS 5 8
Zare= o|E ek Zrre= o|E 23t | el
oI uhAl 10005t CFU/mL off ¢ 5 0.3015t [Z2&E| ml/L
s EFE 24z  |=2#z|1oomL EPE 0.5013F [2&E| m/L
EAMY A 248  |=2#3|1oomL 1.1Cci2220 23 0.030/3F [Z2ZHE| mo/L
= 0.010[5t =4E| mo/L AtE SHEEA 0.0020|5t |[=2HE| mo/L
24 15058 [2ZE[ mo/L 3= 3000l5t | 122 | mo/L
B 0.01013F [2AZ| m/L Ttz g vl 100| 5 0.9 | m/L
e 0.010138 [2ZHE| mo/L o Al dAvhele #| stg | -
2 0.001013} [2ZHE[ mo/L o REEENEC
Al et 0.010138 [2ZHE| mo/L 72l 105t (22| mlL
EE] 0.050/3 [2AZ| mo/L e solst  [22&E| =
eteopy a4 0.5015t [2&HE| ml/L M| 0.50[5t [2&E| ml/L
A 100] st 1.9 mg/L T0|2sE 5.8~8.5 7.1 -
=g 0.005015} [2ZE| mo/L ofed 3olst  [0.009 [ mo/L
e 0.005013} [2ZHE| mo/L olpole 250015t | 72.1 | mo/L
ZE2lg=0 gt 0.10/5t [ 0.015] mg/L ZUNRE s000/5t | 290 | mg/L
Cholofxl &= 0.020/3 [2AZ| mo/L e 0.3013F  [2AZ| m/L
j2el 8 0.060/3F [Z2ZHE| mo/L a2t 0.050/3F [Z2ZHE| mo/L
HUEZA2 0.040] s} =dE| m/L Bt 0.50|5t 0.06 | NTU
l.2-Cl2ze-3-3zz==8| 0.0030/5t |2HE| miL gito2 200015t | 17 | mo/L
7t 0.070l3F [2AZ| mo/L y=olg 02013t [2AZ| m/L
1.1.1-E2|Z 220 gt 0.10/5t [2&HE| ml/L EEEET 0.080I5F [ 0.005 | mg/L
HEZIZZ 20| Eal 0.010|5t =dE| mo/L 2E 10|35} 0.01 mg/L
Ez|Z2=20E 0.030I5t | =HE| mg/L SRICS2ZHE 0.030[5 | 0.005| mg/L
CIZ=2=2M gt 0.020|5t =dE| mo/L CIEERE2 20 E 0.10]|st 0.006 | mg/L
Il 0.010|35} =4dZE| mg/L 1,4-ClO| S At 0.050|35} =4dZE| mg/L
=0 07013t [2&Z| m/L ZEYL S| = 0.5013t [2&Z| m/L
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1. ek 100CFU/meo| st 0 31.0f 0.3 mg/L0l5t =HZ
2. E5UEAT =AE/100m| =HEF  |32.3 43 0.5 mg/L0lst| EHZE
3.H&E =dE/100me| =HF  |33.1,1-CIZ==20ll 2@ | 0.03 mg/L0ISH EHE
4 ZAMHEFT =AZ/100ml - 34 AlY EHER 0.002 mg/eo0lst] =4AE
5. 0.01 mg/f0l5t E2AHZE [ss51.2-ci2z=-3-2===2=28|0.003 mg/L0I5t| EAHE
.22 1.5 mg/g0|5t EHZE [36.22sto|=z0lE 0.03 mg/£0lst 0.0016
7.H| 2 0.01 mg/£0| 5t =H8E 37.C|EZ2R0olMEL EE 0.1 mg/£0|5} =H8E
8. M2l & 0.01 mg/0|3t =2ZHZE |s8.ci2z=zoMEYEZ | 0.09 mg/L0|5H  0.0006
9.+2 0.001 mg/g0|3t EHZ |[39.E2/22=0MELEZ |0.004 mg/L0|5t EZHS
10. Al 2F 0.01 mg/L0|3t EZHZE |40.gZotMEOIME 0.1 mg/40l3t  0.027
1.2 0.05 mg/£0l5t EHE |41 7RI 4.0 mg/g0l3t|  0.53
12. 22 L{obA Al A 0.5 mg/L0lst| EHAE [42.8E 300 mg/f0[5t 58
13. AN A 10 mg/£0]| 5} 0.9 43. D7 E A2 10 mg/£0| 5} 2.0
1422 1.0 mg/£0]| 5} 0.01 44 HAY 25 et
15.7IE& 0.005 mg/£0l5t| =HE  [45.5¢ Fo| g
16.H & 0.005 mg/£0lst] EHE |46.72l(Cu) 1 mg/00I5t =AE
17.CtootX| = 0.02 mg/f0lst EHE [47.MX 5xolst) =4E
18.T}2}E| 2 0.06 mg/£0|5t EHE [48.MAH(Sol2AHHEMH) | 0.5 mg/L0|5H EHZE
19.H LU EZE[2 0.04 mg/f0l5t EHE |49.520|2zE 5.8-8.5 7.7
20.7td 0.07 mg/£0|5} =HdZE 50.094 3 mg/40| 5t =HdZE
21. 5E2|g=m et 0.1 mg/00I3t  0.024 |51.¥x0|2 250 mg/£0| 3} 14.8
22 222x%E 0.08 mg/f0l3t  0.020 52. ZYUTRS 500 mg/£0]| 5t 105
23.1,1,1-E2|2220|Et| 0.1 mg/L0]|5} =4dE 53.& 0.3 mg/£0]5} =4dE
24 HEZIZZ 20|23l | 0.01 mg/f0|5t EHE |54.27H 0.05 mg/f0l5t| EHE
25 EZ|[E 22023 0.08 mg/f0lst EHZE [55.B % 0.5 mg/40|5t 0.06
26.E2ZC|2ZZH EH 0.03 mg/L018H  0.004 56.& o2 200 mg/40|5t 12
27.CIEERZ2 20 & 0.1 mg/L0l8t) =dE |57.¢Fols 0.2 mg/40|5t 0.03
28.CIEZ =0 Et 0.02 mg/f0l5t| &EHZE [58.1,4-Clo[SLt 0.05 mg/f0lst| EHE
29. 4l 0.01 mg/g0lst| =HE |59.ZEYHI5|I= 0.5 mg/L0l5t| EHZE
30.EFA 0.7 mg/80|5t =HdZE -
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